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‘ 15.7x 2+ 3.14 = 10( cm)




o] =39 2ol 188.4cm 1 WO REAE2] Aol= B emYU7F?

® 10ecm @ 15ecem @ 20cm @ 25cm (@)30(:111

(9] E4)) = 2x(Y2] ¥ 2) x3.14
188.4 = 2x (9] ¥tA]E5)x3.14
e P0] ¥ 22 188.4 + 3.14 + 2 = 30( cm) YU TH.
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the 2ol 29 Yol 9 kol gl AR el Yol B

#1742

@® 1.1 @ 1.21 Hj ® 1.44 1Y
@1.57 Ll ® 1.89 Hi

9] Hx] &L 1°]=t2 StH,

(29] Hol)=1x1x3.14 = 3.14( cm?)

A Qo] A2 mE R YU T

upabA] A ] Hol=

2x2x % =2(cm?) JYtt,

3.14+2 = 1.57(H) whebA] o] Hol ZAS wel<] 1.57(4H)
Ayt




< 83 Zo] §1x]50] 2tz 8cem, 4ecmQ F 7R 9] v F|7F AAE
AsUeh 7z 209 & off, U ek 2 SRS U7

7t 5t

n
=2

(7F H7E 8491 AR = (kA 2 A 0 A)
16 x3.14x20 =8x3.14x0O

1004.8 = 25.12 x O

O = 1004.8 = 25.12

o = 40(H)




